
SAP ABAP table PTK10 {Leg of trip}

PTK10

KZPMF [CHAR (1)]

BEREI  [CHAR (1)]

LAND1 [CHAR (3)]

PKWKL [CHAR (3)]

RGION [CHAR (5)]

T702E

MANDT [CLNT (3)]

MOREI [CHAR (2)]

KZPMF [CHAR (1)] PTK10-KZPMF = T702E-KZPMF 0..N

1

T702O

MANDT [CLNT (3)]

MOREI [CHAR (2)]

LAND1 [CHAR (3)]

RGION [CHAR (5)]

 PTK10-LAND1 = T702O-LAND1 
0..N

0..N  PTK10-RGION = T702O-RGION 0..N

1

T702W

MANDT [CLNT (3)]

MOREI [CHAR (2)]

PKWKL [CHAR (3)]

 PTK10-PKWKL = T702W-PKWKL 

0..N

1

T702X

MANDT [CLNT (3)]

MOREI [CHAR (2)]

BEREI [CHAR (1)]

 PTK10-BEREI = T702X-BEREI 

0..N

1


